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052 0000000000000 (1/4)
Vop2 — 0.2 VO Vo V10 V200 V30O Va0 Vs Ve V70 0.5 Vopz, POL21/22 = L

Vo Vo' 000 | Dx7 | Dxs | Dxs | Dxa | Dxa | Dx2 | Dx1 | Dxo ooooooo m (Q)
ro ooH ] of o] o]l o]lo]o]o]o Vo' Ve 10 400.0
Ve 01H 0 0 0 0 0 0 0 1 Vi' [Va+(Vo-Vi) X 3465.0 / 3865 rl 362.5

r ’ o2H ] ol o]l ololo]o]1]o Vo' |Vit(VoV)) X 31025 / 3865 r2 325.0
V2 o3H | ol o]l olo|lo]o]1]1 Vi |Vit(Vo-Vi) X 27775 /3865 13 2875

r2 Ve o4aH | ol o]l o]l o]l o] 1] 0] o Vo' |Vi+(Vo-Vi) X 24900 / 3865 r4 250.0
s E] osH ] ol o]l o]lo|lo]1]o0]1 Vs |Vi+(Vo-Vi) X 22400 / 3865 15 2225
‘ o6H | o f o]l o] o] o] 1] 1]o0 Ve |Vit(VoVi) X 20175 / 3865 16 195.0

1 oH J] ol ol ol olo] 1] 1]1 Vi |Vit(VoeV) X 18225 / 3865 17 170.0
osgH | o f o]l o]l o]l 1] o]o]o Ve |Vit(Vo-Vi) X 16525 / 3865 18 145.0

| ooH | of o]l o]l o]l 1] o] o] 1 Vo' |Vi+(Vo-Vi) X 15075 / 3865 19 120.0

r3o oAH | o J o]l ol of 1] o] 1] ol vio |virvevyx 13875 / 3865 r10 120.0
Var' BH | 0 ] o| o] o 1t | o] 1 | 1| vir |vievovi)x 12675 / 3865 11 120.0

Vi r31 Va7 ocH | ol of o] o 1| 1 0 0 Vi2' |Vi+(Vo-Vi)) X 11475 / 3865 r12 95.0
a2 % ooH [ ol o[l o] o] 1 [ 1] of 1] vie |vireve-vyx 10525 / 3865 r13 95.0
Vaz' oEH | o J ol ol of 2] 1] 1] ol v Jvirvevyx 9575 / 3865 r14 95.0

r3s ofH J o f o]l ol o 1] 1] 1] 1] vis' [virvovyx 8625 / 3865 r15 75.0
‘ 10H | ol ol o] 1] o] of o of vie [vit(vevi)x 7875 / 3865 r16 75.0
1H J ol ol o] 2l ofl o o 1] vir [vitvevyx 7125 / 3865 r17 75.0

1 2H f ol ol o] 1] ofof 1] o vie |vitve-vyx 6375 / 3865 r18 62.5
BH ol oflo]l 1]l ofof 1] 1] vie [virvevyx 5750 / 3865 r19 62.5

1 4H ol ol o] 1] of 1] o] o va |vitvevyx 5125 / 3865 120 62.5
15H | ol of o] 1] of 2] o 1] va [vit(vevi)x 4500 / 3865 r21 50.0

| 16H | ol ol o] 2] of 2] 1] o var [vit(vov)yx 4000 / 3865 122 50.0
17H ol ol o] 1] of a2 1] 1] voe [vairevevyx 3500 / 3865 r23 50.0
184 | ol ol o] 1] 1 of o o va |viteve-vyx 3000 / 3865 124 375

! 19H f ol ol o] 1] 1l of o 1] vos |vareve-vyx 2625 / 3865 125 375
iAH ol o] ol 1| 1] o 1] o] v [vit(vov)x 2250 / 3865 126 375

! BH J ol o] ol 1| 1] o 1] 1] v [vitvovyx 1875 / 3865 127 375
iIcH | oJol ol a1 1] 1] o] o v [virvevyx 1500 / 3865 128 375

1 H | o J ol ol 1 [ 2] 1] ol 1] v [virvevyx 1125 / 3865 129 375

‘ iEH J o o] ol 1 [ 1] 1] 1] o] va [vitvovyx 750 | 3865 130 375
ifH | o f o]l ol 2 [ 1] 2] 1] 1] va [virvovyx 375 | 3865 r31 375

200 ] ol o] 1]l ol o] o]lol o] valw 132 35.0

2tH J o f ol 1l o[ o] o] o] 1] va [varvivyx 9650 / 1000 133 35.0

22H J ol o] 1l ol o] o] 1] o va [varvivyx 9300 / 1000 134 35.0

234 | o f o] 1] o[ o] o 1] 1] v [varvivx 8950 / 1000 135 35.0

24 | o f o 1 o[ o] 1] o] o] v [vervivx 8600 / 1000 136 35.0

25H ] ol o] 1l ol o] 1] o] 1] v [vervivyx 8250 / 1000 137 35.0

26H | o f o] 1l ol o] 1] 1] o va [varvivyx 7900 / 1000 138 35.0

otH J o f ol 1l ol o] 1] 1] 1] va [varvivyx 7550 / 1000 r39 35.0

284 | o [ o] 1] o 1] o] o o] va [vervivyx 7200 / 1000 r40 325

200 | ol o] 1] o 1] o] o 1] va [vervivx 6875 / 1000 ra1 325

ras1 2aH | o J ol 1l ol 2] o] 1| ol v Jvervivyx 6550 7 1000 ra2 325
Vas2' 2BH | o J o]l 1l o 2] o] 1| 1| va Jvervivx 6225 /1 1000 r43 325

f252 i 2cH f ol o[l 1] o]l 1 [ 1| of of va Jvervivyyx 5000 / 1000 ra4 325
[ Vass 20H [ ol o[ 1] o] 2 [ 2| of 1] ves |verevivyx 5575 /1000 ra5 325
rzss Vst 26H o [ o[ 1l o[ 2l 1] 1] o v |Vervivgx 5250 / 1000 r46 325
Ve rm[; 2fH J o f ol 2l ol 1] 2] 1] 1] v [vervivyx 4925 /1000 ra7 325
Vs Vice' 30H | of o] 1] 1 o] o] o o va [varvivyx 4600 / 1000 r48 30.0
3iH J ol o] 1] 1 [ o] o] o 1] va [varvivyx 4300 / 1000 r49 30.0

2 | o f o] 1] 1 [ o] o] 1] o] ve [var(vivx 4000 / 1000 150 30.0

33H | ol o] 1] 1 [ o] o 1] 1] va [vervivyx 3700 / 1000 151 30.0

3aH | o o] 1l 1 [ o] 1] o] o ve [vervivyx 3400 / 1000 152 30.0

3sH | o f o] 1] 1 [ o] 1] o] 1] ve [varvivyx 3100 / 1000 153 30.0

36H | o f o] 1| 1 [ o] 1] 1] o va [varvivyx 2800 / 1000 154 30.0

s?H | o [ o 1| 1 [ o] 1] 1] 1] ve [var(vivx 2500 / 1000 155 30.0

38 | o f o] 1| 1| 1] o] o o ve [vervivyx 2200 / 1000 156 275

30H J ol o] 2l 1| 1] o] o] 1] v [vervivyx 1925 /1000 157 275

3AH | o J ol 1l 2 [ 2] o] 1] o ve [verviva)x 165.0 / 1000 158 275

3BH | o J ol 1 2 [ 2] o 1] 1] ve Jvervive)x 1375 / 1000 159 275

acH [ ol o[ 1] 2] 2 [ 2] of of ve [vervivyx 1100 / 1000 160 275

3oH [ o [ o[ 1 ] a2 ] a2 [ 2 of 1] ver [verviv)x 825 / 1000 161 275

3eH | o J ol a2l 2] 2] 1] 1] ol ve Jvervivex 550 / 1000 162 275

s3kH | o [ o 2 2 [ 1] 1] 1] 1] Ve [vervivyx 275 [ 1000 163 275
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052 0000000000000 (2/14)
Vop2 — 0.2 VO Vo V10 V200 V30O Va0 Vs Ve V70 0.5 Vopz, POL21/22 = L

Vo Vo' OO0 | Dx7 | Dxe | Dxs | Dxa | Dxs | Dx2 | Dx1 | Dxo gooo m (Q)
o 20H | 0 | 1t J O] 0] o] o] 0] 0] Ve [Ve 164 25.0
Vi 21H | 0 | 1 L o] o] o] o] o] 1| Ve [Vat(vavax 1575 /1600 165 25.0

" 42 | 0 [ 1 [ o | o] o] o] 1| o] Ve |Var(vevax 1550 / 1600 166 25.0
Vo' 231 | 0o [ 1 [ ol o] o] o] 1| 1] Ve |Var(vavax 1525 / 1600 167 25.0

r2 224 | o [ 1 [ ol o] o] 1] 0] o] Ve |Var(vavax 1500 /__ 1600 168 25.0
V' 250 | 0 | 1 L o] o] o] 1] 0] 1| Ve |Vat(vavaXx 1475 /1600 169 25.0

rs 464 | 0 | 1 L 0l o] o] 1] £ | 0 v [Ver(vava)x 1450 /1600 170 25.0
‘ 47 | 0 | 1 J o] ol o] 1| 1] 1| va [vatvevax 1425 /1600 71 25.0
484 | 0 | 1 ol o 1] 0] o] o] ve |Var(vavax 1400 / 1600 72 25.0

! 290 | 0o [ 1 [ ol o 1] o] o] 1| vi |Var(vavax 1375 /__ 1600 73 25.0

! a0 | 0 [ 1 ol o[ 2l ol £ [ o] va [verveve)x 1350 /1600 174 25.0

rso 280 | 0 | 1 [ ol o[ 21 ol = [ 1] Vs [Varvava)x 1325 /1600 75 25.0
Va1 aCH | 0 | 1 [ oo 1] 1] o] 0] Ve [Var(vavax 1300 /__ 1600 176 25.0

ra 40H | 0 | 1 J o J ol [ 1 o[ 1 [ vr [Vsrvava)x 1275 /1600 77 25.0
Vi Va2’ 46H | 0 | 1 J ol ol 2 1 1] 0] v |Vervava)x 1250 /__ 1600 78 25.0
rs2 aFH | 0 [ 1 L ol o 1| 1| 1| 1| vw |ver(vavax 1225 /1600 79 25.0
Vas 50H | 0 ] £ ] o] 1] o] 0] 0] 0] Ve [Ver(Veva)X 1200 /1600 180 25.0

rss 5:H | 0 | £ ] 0] 1] o] 0] 0] 1] Ve [Ver(Vava)X 1175 /1600 181 25.0
; 52 | 0 | 1 | 0| 1 | 0] o] 1| 0] Ve |[Ver(Vava)X 1150 /1600 182 25.0

! 534 | 0 | 1 ] 0| 1] o] o] 1| 1] Ve [Var(Veva) X 1125 /1600 183 25.0

! 540 | 0 | 1 | 0| 1 [ o] 1] 0] 0] Ve [Ver(Vava)X 1100 /__ 1600 184 25.0
550 | 0 | £ ] o] 1] o] 1] 0] 1] Ve [Ver(Vava) X 1075 /1600 185 25.0

! 56H | 0 | £ ] 0] 1 ] o] 2] 1] 0] Ve [Ver(Veva)X 1050 /1600 186 25.0

! 57H | 0 | 1 | o | 1 | o] 2| 1 | 1| Ver [Ver(Vava)x 1025 /1600 187 25.0
584 | 0 | 1 ] 0| 1 | 2] 0] 0] 0] Ve |[Var(Veva) X 1000 /__ 1600 188 25.0

! 50H | 0 | £ ] o] 1 [ 1] 0] 0 1] Ve [Ver(Veva) X 975 /1600 189 25.0

! 5aH | 0 | 1 [ o[ 2 [ 21 o £ [ 0] Ve [Vervevs)x 950 / 1600 r90 25.0

1 580 | 0 | 1 | o] 2 | 21 o & [ 1] Vor |[Var(vava)x 925 /1600 1oL 25.0
5cH | 0 | 1 | o | 1 [ 1] 1] 0] 0] Ve [Var(Vava)x 900 / 1600 192 25.0

! 50H | 0 | 1 | o | 1 [ 2| 1 0o 1] Ver [Var(Vava)X 875 /1600 193 25.0

1 5ed | 0 | 1 [ o [ 2 [ 21 2 [ £ [ 0] ver [Var(veva)x 850 / 1600 194 25.0
5FH | 0 | 1 | 0 | £ | 1 | 1| 1 | 1 | Ve |Vat(vava X 825 /1600 195 25.0

! 60H | 0 | 1 | 1] 0] o] 0] 0] 0] Ve [Ver(Veva)X 800 / 1600 196 25.0

! 61H | 0 | 1 | 2] 0] o] o] 0] 1] Vor [Ver(Vava) X 775 | 1600 197 25.0
rmm Vo' 62H | o | 1 [ 2 ol o] o] 121 o ve [varvevs)x 750 / 1600 198 25.0
2 I"eaH | 0 | 2 | tJoJ ol o t [ 1] Vo [Ver(VaVa)X 725 /1600 r99 25.0

Ve rm[:] Voor |8 o i T aT ool 3]0l 0l vir [Ver(vavgx 700 /1600 1100 25.0
rm['j 65H | 0 | 1 | 1] o] o] 1] 0] 1] Viw [Ver(Vava) X 675 /1600 r101 25.0
Var 880 0T 1T 1T ol ol a1l 1[0l vie [vervavyx 650 / 1600 1102 25.0

mslj 670 | 0 | 1 | 1 | o ] o 1| 1| 1] View [Ver(VeVa) X 625 /1600 1103 25.0
‘ 680 | 0 | 1 | 1 ] 0] 1] 0] 0] 0] View [Ver(Vava) X 600 / 1600 1104 25.0

; 69H | 0 | 1 | 1 ] o] 2] 0] 0 1] Vis [Ver(Vava) X 575 /1600 1105 25.0

! 6AH | 0 | 1 | 2 [ ol 21 o = [ 0] Viw |[Var(vava) x 550 / 1600 1106 25.0
68H | 0 | 1 | 2 [ o [ 2| o [ 1| vir [Var(vava)x 525 / 1600 1107 25.0

! 6CH | 0 | 1 | 1 [ o[ 2| 1 0] 0] Viw [Ver(Vava) X 500 / 1600 1108 25.0

! 60H | 0 | 1 | 1 [ o [ [ 12 0 & [ Viw [Ver(Vava) X 475 /1600 1109 25.0

: 6EH | 0 | 1 [ t [ o [ 21 2 [ = [ 0] var [Vervava)x 450 /1600 1110 25.0
Vo' L6FH [ 0 [ 1 [ 1[0 1] 1] 1 1] Vir |Vsr(vaVva)X 425 /1600 111 25.0

70 | 0 | 1 | 2] 1] 0] 0] 0] 0] Ve [Ver(Vava) X 400 / 1600 1112 25.0

wVosy L 720 | 0 [ 2 [ 2 [ 2 Lo 0] 0| 1| Vus |Var(vava X 375 /1600 1113 25.0

72d | 0 | 1 | 1 [ 1 [ o] o] 1| 0] Vue [Ver(Veva) X 350 /1600 1114 25.0

Vos L7sd | 0 | 1 [ 1 2o ol £ [ 1] vis [Vervevax 325 /1600 115 25.0

740 | 0 | 1 | 1 | 1] o] 2] 0] 0] Vue [Ver(Vava) X 300 /1600 1116 25.0

Ve et oo aTol 1ol 1] vir [vasvevx 275 /| 1600 1117 25.0

760 | 0 | 1 | 1 | 1 ] o] 1] 1] 0] Vue [Ver(Vava) X 250 / 1600 1118 25.0

7iH | 0 | 1 | 12| 1] o] 1] 1 1] Vue [Ver(Veva) X 225 /1600 1119 25.0

780 | 0 | £ | 1 | 1 [ 1] 0] 0] 0] Vieo [Ver(Vava) X 200 /1600 1120 25.0

790 | 0 | £ | 1 | 1] 1] 0] 0] 1] Viw [Ver(Vava) X 175 /1600 r121 25.0

7aH | 0 | 1 | 2 [ 2 [ 2] o [ 0| vir [Var(vava) x 150 / 1600 1122 25.0

780 | 0 | 1 | 2 [ 2 [ 2] o [ 1] vir [Var(vava)x 125 /1600 1123 25.0

7cH | 0 | 1 | 1 [ 1 [ 1] 1] 0/ 0] Vir [Ver(Vava)x 100 /__ 1600 1124 25.0

70H | 0 | 1 | 1 [ 1t [ 2] 1 0 1] viw [Ver(Vava) x 75 /1600 1125 25.0

7EH | 0 | 1 | 2 [ 2 [ 2 1 2 [ £ [ 0] Vi [Var(Vava)x 50 /1600 1126 25.0

7FH | 0 | 1 | L | 2 | 2| 1| L | 1| Vir |[Ver(Veva) X 25 ] 1600 127 25.0
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NEC %5 / uPD16750

052 0000000000000 (3/4)
Vop2 — 0.2 VO Vo V10 V200 V30O Va0 Vs Ve V70 0.5 Vopz, POL21/22 = L

Vv Vo' 000 | Dx | Dxs | Dxs | Dxa | Dxa | Dx2 | Dx1 | Dxo oooo m (Q)
0 0 i] 80H | t [ 0] 0] o] o] ol 0] o[ Ve [Vs r128 25.0
Vi 8iH | 1 ] ol o] o] o] ofo 1 | Vio' |Vat(VaVa) X 1875.0 / 1900.0 1129 25.0

" g&2H | 1 ol o] o] ofo 1 0 | wviso' [var(vs-va)X  1850.0 / 1900.0 r130 25.0
Vo' 83H | 1 | ol o] o]ofo 1 1 | Vi |Va+(Va-Va) X 1825.0 / 1900.0 r131 25.0

I ggH | 1 | ol o] o] o 1 0 | 0 | Vis' |Vet(Vs-Va)X  1800.0 / 1900.0 r132 25.0
Vi 8sH | 1 | ol o] o] o 1 0 1 | Viss' |Ver(VaVa) X 1775.0 /  1900.0 r133 25.0

rs g8eH | 1 | o | o] o] o 1 1 0 | Vi [Var(Vs-Va) X 1750.0 / 1900.0 1134 25.0
‘ s?H | 1 | ol o] o] o 1 1 1 | Viss' |Vat(Va-Va) X 17250 / 1900.0 r135 25.0

! gsH | 1 | o] o] o 1 0 | o] o vie [vat(vsvayx 17000 / 1900.0 r136 25.0
goH | 1 | o] o] o 1 o] o 1 | Vis? |Vet(VsVa) X 1675.0 / 1900.0 r137 25.0

! 8AH | 1] o 0 0 1 0 1 0 | Viss' [Ver(Vs-Va) X 1650.0 / 1900.0 1138 25.0

rso 8BH | 1 | o 0 0 1 0 1 1 | Vise' |Vat(VaVa) X 1625.0 / 1900.0 1139 25.0
Var' 8cH | 1 | o 0 0 1 1 0 | 0 [ Vi |Vat(Ve-va)X  1600.0 / 1900.0 r140 25.0

ra1 8bH | 1 | o 0 0 1 1 0 1 | Via' |Va+(Va-Va) X 1575.0 / 1900.0 r141 25.0
Vi Va2’ 8EH | 1 | o 0 0 1 1 1 0 | Vie [Vet(Vs-Va) X 1550.0 / 1900.0 r142 25.0
ra2 8FH | 1 [ o [ o] o 1 1 1 1 | Vi |Ver(VsVa) X 1525.0 /  1900.0 1143 25.0
Vag' ooH | 1 [ o] o 1 0 [ ol ol ol v Jvar(vsvayx 15000 / 1900.0 r144 25.0

oiH | 1 | o] o 1 ol oo 1 | Vi |Var(VaVa) X 14750 /  1900.0 1145 25.0

2H | 1] o] o 1 o] o 1 0 | Vs [var(vs-va) X 1450.0 / 1900.0 r146 25.0

3H | 1] o] o 1 o] o 1 1 | Vi |Ver(VaVa) X 1425.0 /  1900.0 r147 25.0

oaH | 1 [ o] o 1 0 1 0 | 0 | Vi |Ver(Vs-Va)X  1400.0 / 1900.0 1148 25.0

osH | 1] o] o 1 0 1 0 1 | Vi |Ver(VsVa) X 1375.0 / 1900.0 1149 25.0

9%H | 1 | o] o 1 0 1 1 0 | Viso' [Va+(Vs-Va) X 1350.0 / 1900.0 1150 25.0

orH | 1 | o] o 1 0 1 1 1 | Vist' |Va+(Va-Va) X 1325.0 / 1900.0 r151 25.0

9gH | 1 | o] o 1 1 0 | o] o vise |Ver(vsVa)X  1300.0 / 1900.0 r152 27.5

o99H | 1 | o] o 1 1 o] o 1 | Viss' |Ver(VaVa) X 12725 /  1900.0 r153 27.5

9AH | 1] o 0 1 1 0 1 0 | Vise' [Ver(Vs-Va) X 1245.0 / 1900.0 r154 27.5

oBH | 1] o 0 1 1 0 1 1 | Viss' |Var(VsVa) X 12175 /  1900.0 1155 27.5

oacH | 1 | o 0 1 1 1 0 | o [ wvise' |Vat(Ve-va)X  1190.0 / 1900.0 r156 27.5

ooH | 1] o 0 1 1 1 0 1 | Vis? |Vet(VsVa) X 11625 / 1900.0 r157 27.5

9EH | 1 ] o 0 1 1 1 1 0 | Viss' [Ver(Vs-Va) X 1135.0 / 1900.0 1158 27.5

oFH | 1 [ o | o 1 1 1 1 1 | Viso' |Vet(VsVa) X 1107.5 / 1900.0 1159 27.5

AH | 1] o 1 0 0] of o] o vie |vat(ve-va)x  1080.0 1900.0 1160 30.0

AlH | 1] o 1 0 0 o] o 1 | Vier' |Va+(Va-Va)X  1050.0 / 1900.0 r161 30.0

A ] 1 o 1 0 0 0 1 0 | Vie [Vet(Vs-Va)X  1020.0 / 1900.0 r162 30.0

V223 A3H 1 0 1 0 0 0 1 1 Vies'  |Va+(Va-Va) X 990.0 / 1900.0 r163 30.0

LAl 1] o 1 0 0 1 0 | 0 | Viee |Ver(Vs-Va)X  960.0 / 1900.0 1164 30.0

Va4 AsH | 1 0 1 0 0 1 0 1 | Vies' |Vat(Va-Va) X 930.0 / 1900.0 r165 30.0

Ve | REH L L]0 1 0 0 1 1 0 | Vs [Vat(vs-Va)X  900.0 / 1900.0 r166 30.0

225 AH ]l 1] 0 1 0 0 1 1 1 | Vier |Ver(vsV) X 8700 / 1900.0 r167 30.0

AsH | 1] o 1 0 1 0 | o] o vie |ver(vsva)X 8400 / 1900.0 1168 325

AH | 1] o 1 0 1 o] o 1 | Vieo' |Ver(VsVa) X 807.5 / 1900.0 1169 325

AH | 1 [ o 1 0 1 0 1 0 | Vire' [Var(Vs-Va)X  775.0 / 1900.0 1170 325

AH | 1 [ o 1 0 1 0 1 1 | vin' |Vat(Va-Va) X 7425 / 1900.0 r171 325

AcH | 1 [ o 1 0 1 1 0 | o | vire |Vet(Vs-Va)X  710.0 / 1900.0 r172 325

ADH | 1 [ o 1 0 1 1 0 1 | vizs |Ver(VsVa) X 6775 /  1900.0 1173 325

AEH | 1 [ o 1 0 1 1 1 0 | Vire [Ver(Vs-Va) X 645.0 / 1900.0 1174 325

Vasy |LAFH | 1] 0 1 0 1 1 1 1 | Vs |Ver(vsV) X 6125/ 1900.0 1175 325

BoH | 1 [ o 1 1 0 0] o] o v |vet(vsva)x  580.0 / 1900.0 r176 35.0

Vasg | BIH | 1] 0 1 1 0 o] o 1 | Vi |Vat(vaVa) X 545.0 / 1900.0 r177 35.0

B2H | 1 [ o 1 1 0 0 1 0 | Virs |Vet(Vs-Va) X 510.0 / 1900.0 r178 35.0

Vase | B3H | 1] 0 1 1 o] o 1 1 | Vie' |Ver(VsVa) X 475.0 /  1900.0 1179 35.0

BaH | 1 [ o 1 1 0 1 0 | 0 | Vi |Vat(Vs-Va)X  440.0 / 1900.0 1180 35.0

IBsH [ 1] o 1 1 0 1 0 1 | Visr' |Va+(Va-Va)X  405.0 / 1900.0 r181 35.0

= Vass B6H 1 0 1 1 0 1 1 0 Viso' |Va+(Va-Va) X 370.0 / 1900.0 r182 35.0

B7H | 1 [ o 1 1 0 1 1 1 | Viss |Vet(vsVa) X 335.0 / 1900.0 r183 35.0

BsH | 1 [ o 1 1 1 0 | o] o vise |Ver(vsva)X  300.0 / 1900.0 1184 37.5

BoH | 1 [ o 1 1 1 o] o 1 | Viss' |Var(VsV) X 2625 /  1900.0 1185 37.5

BAH | 1] o 1 1 1 0 1 0 | wviss' [var(vs-Va)X  225.0 / 1900.0 r186 37.5

BBH | 1 | o 1 1 1 0 1 1 | visr [Vat(vava) X 187.5 / 1900.0 r187 37.5

BcH | 1] o 1 1 1 1 0 | 0 | Vies |Vat(Vs-Va) X 150.0 / 1900.0 r188 37.5

BDH | 1 | o 1 1 1 1 0 1 | Vise' |Va+(Va-Va) X 112.5 / 1900.0 1189 37.5

BEH | 1 | o 1 1 1 1 1 0 | Vi [Var(va-va) X 75.0 / 1900.0 1190 37.5

BFH | 1 [ o 1 1 1 1 1 1 | Vier' [Va+(Va-Va) X 375 / 1900.0 1191 375
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NEC %5 / uPD16750

052 0000000000000 (4/4)
Vop2—0.2 VO Vol V10 V20 V3O V4O Vs Ve[ V7O 0.5 Vop2, POL21/22 = L

, 000 | Dxt | Dxs | Dxs | Dxa | Dxa | Dx2a | Dxa | Dxo oooo m (Q)

Vo i] Vo CoH | 1 | 1] 0] o] o] o] o] 0] Vi [Va 1192 42.5
ro Vi CiH| 1| 1] o] o] o] o] 0] 1 | View |VsH(VaVe)X 15575 / 1600.0 r193 425
" C2H | 1 | 1 ] 0] 0| 0| 0| 1 | 0| View |VeHVaVe)X 15150 / 1600.0 1194 425
vy caH | 1 | 1| o] o] 0] 0 | 1 | Vie |[VoH(VaVe)X 14725 / 1600.0 1195 425

r CaH | 1 | 1 | o] o | o | £ | 0 | 0| Vie |VsH(VaVe)X 14300 / 1600.0 1196 425
Ve csH | 1 | 1] ol o] o] 2] 0] 1| Vier [VsHVaVs)X 13875 / 1600.0 1197 425

s c6H | 1 | 1 | 0| o | 0 | £ | 1 | 0 | View |VsH(VaVe)X 13450 / 1600.0 r198 425
‘ CtH | 1 | 2] 0] o] o 2 | 1 | 1 | View |VeH(VaVe)X 13025 / 1600.0 1199 425
ceH | 1 | 1 | 0| o] 1] 0] 0] 0| Vew |VoH(VaVs)X 12600 / 1600.0 1200 475

! CoH | 1 | 1] o] o] 1| o] 0 1| Vaw |VeHVaVe)X 12125 / 1600.0 1201 475

1 CAH | 1 | 1 | 0] o] 1| o £ | 0| Veor |Ver(VaVs)X 11650 / 1600.0 1202 475

rs0 CBH | 1 | 1 | 0] 0] 1| 0| 1 | 1 | Veowr |VsH(VaVy)X 11175 / 1600.0 1203 475
Var [Tcch [ 1 [ 1 ] o] o | 1 | £ | 0| 0| Var |VeHVaVe)X 10700 / 1600.0 1204 475

ra CoH | 1 | 1 ] 0] o] 1| £ | 0| 1 | Vew |VoH(VaVe)X 10225 / 1600.0 1205 475
Vi Vo' TTcern [ 1 [ 2 | o | o | 2 | 2 | L | 0 | Vae |Vet(VaVe)X 9750 / 1600.0 1206 475
rs2 , CFH 1 1 0 0 1 1 1 1 Vao7' | Vs+(Va-Vs) X 927.5 / 1600.0 207 475
Vas DoH | 1 | 1 | 0] 2 | 0] 0 | 0 | 0| Vaw |VsH(VaVs)X _ 8800 / 1600.0 1208 525

DIH | 1 | 1 | 0] 2| 0] 0| 0] L | Vaw |VeH(VaVe)X _ 8275 / 1600.0 1209 525

D2H | 1 | 1 | 0| 1 | 0| 0| 2 | 0 | Vao |Ver(VaVe)X 7750 / 1600.0 1210 525

D3H | 1 | 1 | 0] 2 | o] 0| 1 | 1 | Vo |VeH(VaVe)X 7225 / 1600.0 1211 525

DaH | 1 | 1 | 0| 1 ] o £ ] 0 0] Var |Ver(VaVe)X 6700 / 1600.0 1212 525

D5H | 1 | 1 | 0| 2 | 0| = | 0 | 1 | Vaw |VeH(VaVe)X 6175 / 1600.0 1213 525

D6H | 1 | 1 | 0] 2 | 0| = | 1 | 0 | Vo |VeH(VaVe)X _ 5650 / 1600.0 1214 525

D7H | 1 | 1 | 0| 1 | 0 | £ | 1 | 1 | Vas |VoH(VaVe)X 5125 / 1600.0 1215 525

DeH | 1 | 1 | 0| 1 | 1 | 0| 0 | 0 | Vae |VeH(VaVe)X _ 4600 / 1600.0 1216 575

DoH | 1 | 1 | 0] 2 ] 2 | 0] 0 1 | Var |Ver(VaVe)X 4025 / 1600.0 1217 575

DAH | 1 | 1 | o | 1 | 1 | 0| 1 | 0 | Vag |VsH(VaV) X _ 3450 / 1600.0 1218 575

DBH | 1 | 1 | 0 | 1 | 1 | 0| 1 | 1 | Vaw |VeH(VaVe) X 2875 / 1600.0 1219 575

DcH | 1 | 1 | o] 1 | 2 | 2| 0 | 0 | Vaw |Ver(VaVe)X 2300 / 1600.0 1220 575

DDH | 1 | 1 | 0 | 1 | 1 | 2 | 0 | 1 | Ve |VeH(VaVe)X 1725 / 1600.0 1221 575

DEH | 1 | 1 | 0] 2 | 2 | 2 | 1 [ 0| Var |Vor(VaVe) X 1150 / 1600.0 1222 575

DFH | 1 | 1 | o | = | 2 | 2 | 1 | 1 | Vo |Vet(VaVe) X 575 | 1600.0 1223 575

EoH | 1 | 1 | 1 | o] o] o] o] 0] Var |Vs 1224 575

EiH | 1 | 1 | 2] 0] 0] 0] 0 | 1 | Vaw |VeH(VoVe)X 46300 / 46875 1225 70.0

E2H | 1 | 1 | 1 | 0] 0] 0] 1 | 0 | Vaw |VeHVoVe)X 45600 / 4687.5 1226 70.0

Ead | 1 | 1 | 2] 0] 0] 0] 1 | 1 | Vorr [Ver(VoVo) X 4490.0 / 4687.5 1227 70.0

EaH | 1 | 1 | 1 | 0] 0| 1 | 0 | 0 | Vas |VeH(VsVe) X 44200 /| 4687.5 1228 825

EsH | 1 | 1 | 1 | 0] 0| 1 | 0 | T | Vo |VeH(VoVe)X 43375 | 46875 1229 825

E6H | 1 | 1 | 21 ] 0] 0] 2 | 1 | 0| Vaw |VeH(VoVe)X 42550 / 46875 1230 825

E7H | 1 | 1 | 1 | 0] 0 | 1 | 1 | 1 | Vear |VeH(VoVe)X 41725 | 46875 1231 95.0

EsH | L | 1 | 21 ] 0] 2] 0] 0] 0| Vowr |Ver(VoVo) X 4077.5 | 46875 1232 95.0

EoH | 1 | 1 | 1 | 0 | 1 | 0 | 0 | 1 | Vew |VeH(VsVe)X 39825 / 4687.5 1233 95.0

EAH | 1 | 1 | 1 | 0 | 1 | 0 | 1 | 0 | Visw |VoH(VeVe)X 38875 / 46875 1234 1125

EBH | 1 | 1 | 1 | 0| 1 | 0| T | 1 | Ve [VeH(VoVe)X 37750 / 46875 1235 1125

ECH | 1 | 1 | 1 | o | £ | 1 | 0 | 0 | Voo |VeHVs-Ve)X 36625 / 46875 1236 1125

EDH | 1 | 1 | 1 ] 0 | 2] 2 | 0 [ 1 | Var |Ver(VoVe) X 35500 / 4687.5 1237 130.0

EEH | 1 | 1 | 1 | 0 | 2 | 1 | 1 | 0 | Vae |VeH(VsVe)X 34200 / 46875 1238 130.0

EFH | 1 | 1 | 1 | 0 | T | T | 1 | L | Vaw |VeH(VsVe)X 32900 / 46875 1239 1475

FoH | 1 | 1 | 2] 1] 0] 0] 0] 0 Vaw |VeH(VoVe)X 31425 /| 46875 1240 1475

FiH | 1 | 1 | 1 | 1] 0] 0] 0 | T | Ver |VeH(VsVe)X 29950 / 4687.5 1241 165.0

F2H | 1 | 1 | 2] 2] 0] 0] 1] 0 Vowr [Ver(VoVo) X 2830.0 / 4687.5 1242 165.0

F3H | 1 | 1 | 1 | 1 | 0| 0 | 1 | 1 | Vew |VeH(VsVe)X 26650 / 4687.5 1243 182.5

FaH | 1 | 1 | 1 | 1 ] 0] 1 | 0 | 0 | Vour |VeHVoVe)X 24825 | 46875 1244 182.5

FsH | 1 | 1 | 2] 1| 0] 1| 0] 1 | Vaw |Ver(VoVe)X 23000 / 46875 1245 200.0

F6H | 1 | 1 | 1 | 1] 0| 2 | T | 0 | Vew |VeH(VoVe)X 21000 / 4687.5 1246 200.0

FH ] 1| 1 | 2] 2] o] 2] 1] 1| Vour [Ver(VoVe) X 19000 / 4687.5 1247 225.0

F8H | 1 | 1 | 1 | 1 | 1 | 0] 0 | 0 | Vew |VeH(VsVe)X 16750 / 4687.5 1248 225.0

FoH | 1 | 1 | 1 | 1 | 1| 0] 0 | T | Vow |VeHVoVe)X 14500 / 4687.5 1249 250.0

FAH | 1 | 1| 1| 1| 1| 0] 2| 0| Vawo |Ver(VoVe)X 12000 / 46875 1250 250.0

FBH | 1 | 1 | 1 | 2 | 1 | 0| 1 | 1 | Ver |VeH(VsVe)X 9500 / 46875 1251 300.0

FcH | 2 | 1 | 2 | 2 | 2 | 2] 0] 0] Ver |VeH(VsVe) X 6500 / 4687.5 1252 300.0

FDH | 1 | 12 | 2 | = | 2 | 1 | 0 | 1 | Viss |VeH(VsVe)X 3500 / 46875 1253 350.0

FEH | 1 | 1 | 1 | 1 | 2 | 2| 1 | 0 | Vor |Vs 1254 350.0
FFH | 1 | 1 | 2 | 2 | 2] 2 [ 2| 1 | Vao |Wr TOTAL | 150025
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NEC uPD16750

=3

05-30000000000000 (1/4)
0.5 Vop2 — 0.3V0O VsO Ve[ V1o V1100 V120 V130 V140 Vis0 Vss2+0.2 V, POL21/22 = L

Vs Vass” OO0 | Dx7 | Dxe | Dxs | Dxa | Dxs | Dx2 | Dx1z | Dxo oooo m (Q)
00H 0 0 0 0 0 0 0 0 Vo' |Vis r0 400.0
r254 01H 0 0 0 0 0 0 0 1 V1" |Vis+(Vis-Vis) X 400.0 / 3865 rl 362.5
02H 0 0 0 0 0 0 1 0 V2" |Vis+(Via-Vis) X 762.5 | 3865 r2 325.0
Vo Vassa” 03H 0 0 0 0 0 0 1 1 V3" |Vis+(Via-Vis) X 1087.5 / 3865 r3 287.5
1253 04H 0 0 0 0 0 1 0 0 Vs"'  |Vis+(Vis-Vis) X 1375.0 / 3865 r4 250.0
Vas3” 05H 0 0 0 0 0 1 0 1 Vs |Vis+(Vis-Vis) X 1625.0 / 3865 5 222.5
r252 06H 0 0 0 0 0 1 1 0 V6" |Vis+(Vis-Vis) X 18475 / 3865 6 195.0
Vas2" 07H 0 0 0 0 0 1 1 1 V7' |Vis+(Via-Vis) X 20425 / 3865 7 170.0
ras1 08H 0 0 0 0 1 0 0 0 Vg"  |Vis+(V1s-Vis) X 22125 |/ 3865 8 145.0
Vast” 09H 0 0 0 0 1 0 0 1 V" |Vis+(Via-Vis) X 23575 / 3865 r9 120.0
r2so OAH 0 0 0 0 1 0 1 0 Vio"  |Vis+(Vu-Vis) X 24775 | 3865 r10 120.0
3 0BH 0 0 0 0 1 0 1 1 Vi"  |Vis+(V14-Vis) X 2597.5 / 3865 rll 120.0
3 OCH 0 0 0 0 1 1 0 0 V12" |Vis+(Via-Vis) X 27175 / 3865 r12 95.0
3 ODH 0 0 0 0 1 1 0 1 V" |Vis+(V14-Vis) X 28125 / 3865 r13 95.0
3 OEH 0 0 0 0 1 1 1 0 V" |Vis+(Via-Vis) X 29075 / 3865 14 95.0
r22s OFH 0 0 0 0 1 1 1 1 Vis"  |Vis+(Via-Vis) X 30025 / 3865 r15 75.0
Vazs” 10H 0 0 0 1 0 0 0 0 Vig" |Vis+(Via-Vis) X 3077.5 / 3865 rl6 75.0
l224 11H 0 0 0 1 0 0 0 1 Vi7" |Vis+(Via-Vis) X 31525 / 3865 r17 75.0
Vio o Vaad” 12H 0 0 0 1 o] o 1 0 | Vie" [Vis+(Vi-Vis) X 32275 | 3865 r18 62.5
Vazs" 13H 0 0 0 1 0 0 1 1 Vig"  |Vis+(V14-Vis) X 3290.0 / 3865 r19 62.5
F222 [j 14H 0 0 0 1 0 1 0 0 V20" |Vis+(Via-Vis) X 33525 / 3865 20 62.5
T 15H 0 0 0 1 0 1 0 1 V21" |Vis+(V14-Vis) X 34150 / 3865 r21 50.0
3 16H 0 0 0 1 0 1 1 0 V22" |Vis+(Via-Vis) X 3465.0 / 3865 122 50.0
i 17H 0 0 0 1 0 1 1 1 V23" |Vis+(Via-Vis) X 35150 / 3865 23 50.0
3 18H 0 0 0 1 1 0 0 0 V24" |Vis+(V14-Vis) X 3565.0 / 3865 r24 37.5
| 19H 0 0 0 1 1 0 0 1 Vzs"  |Vis+(Via-Vis) X 36025 / 3865 125 37.5
3 1AH 0 0 0 1 1 0 1 0 V26" |Vis+(V14-Vis) X 3640.0 / 3865 26 37.5
3 1BH 0 0 0 1 1 0 1 1 Vzr"  |Vis+(Via-Vis) X 3677.5 / 3865 127 37.5
3 1CH 0 0 0 1 1 1 0 0 Vag"  |Vis+(Via-Vis) X 37150 / 3865 28 37.5
3 1DH 0 0 0 1 1 1 0 1 V29"  |Vis+(V14-Vis) X 37525 / 3865 r29 37.5
3 1EH 0 0 0 1 1 1 1 0 V30" |Vis+(Via-Vis) X 3790.0 / 3865 30 37.5
i 1FH 0 0 0 1 1 1 1 1 Var"  |Vis+(Via-Vis) X 38275 / 3865 r3l 37.5
| 20H 0 0 1 0 0 0 0 0 Va2"  |Via 32 35.0
i 21H 0 0 1 0 0 0 0 1 Vss"  |Via+(Vis-Via) X 35.0 / 1000 33 35.0
i 22H 0 0 1 0 0 0 1 0 Vas"  |Via+(Vis-Via) X 70.0 / 1000 r34 35.0
i 23H 0 0 1 0 0 0 1 1 Vss"  |Via+(Vis-Via) X 105.0 / 1000 35 35.0
1 24H 0 0 1 0 0 1 0 0 Vae"  |Via+(Vis-Via) X 140.0 / 1000 36 35.0
EX] 25H 0 0 1 0 0 1 0 1 Var"  |Via+(Vis-Via) X 175.0 / 1000 37 35.0
Va3” 26H 0 0 1 0 0 1 1 0 Vsg"  |Via+(Vis-Via) X 210.0 / 1000 38 35.0
ra2 Vo 27H 0 0 1 0 0 1 1 1 Vao"  |Via+(Vis-Vie) X 2450 / 1000 r39 35.0
Vas ra1 % = 28H 0 0 1 0 1 0 0 0 Vao"  |Via+(Vis-Via) X 280.0 / 1000 40 32.5
Var” 29H 0 0 1 0 1 0 0 1 V1" [Via+(Vis-Via) X 3125 / 1000 r4l 32.5
rso 2AH 0 0 1 0 1 0 1 0 Va2"  |Via+(Vis-Via) X 345.0 / 1000 142 32.5
' 2BH 0 0 1 0 1 0 1 1 Vag"  |Via+(Vis-Via) X 3775 / 1000 r43 32.5
3 2CH 0 0 1 0 1 1 0 0 Vag"  |Via+(Vi3-Via) X 410.0 / 1000 r44 32.5
3 2DH 0 0 1 0 1 1 0 1 Vias"  |Via+(Vis-Via) X 4425 | 1000 145 32.5
3 2EH 0 0 1 0 1 1 1 0 Vae"  |Via+(Vis-Via) X 475.0 / 1000 r46 32.5
3 2FH 0 0 1 0 1 1 1 1 Var"  |Via+(Vis-Via) X 507.5 / 1000 r47 32.5
| 30H 0 0 1 1 0 0 0 0 Vag"  |Via+(Vis-Via) X 540.0 / 1000 148 30.0
‘ 31H 0 0 1 1 0 0 0 1 Vag"  |Via+(Vi3-Visa) X 570.0 / 1000 r49 30.0
r2 I:;l . 32H 0 0 1 1 0 0 1 0 Vso" | Via+(Vis-Via) X 600.0 / 1000 50 30.0
vz 33H 0 0 1 1 0 0 1 1 V51" [Via+(Vis-Via) X 630.0 / 1000 51 30.0
n iVl 34H 0 0 1 1 0 1 0 0 Vs2"  |Via+(Viz-Via) X 660.0 / 1000 152 30.0
fo 35H 0 0 1 1 0 1 0 1 Vs3" | Via+(Vis-Via) X 690.0 / 1000 53 30.0
Vis Vo 36H 0 0 1 1 0 1 1 0 V54" |Via+(Vis-Via) X 720.0 / 1000 154 30.0
37H 0 0 1 1 0 1 1 1 Vss" | Via+(Vis-Via) X 750.0 / 1000 55 30.0
38H 0 0 1 1 1 0 0 0 Vse"  [Via+(Vis-Via) X 780.0 / 1000 156 27.5
39H 0 0 1 1 1 0 0 1 V57" |Via+(Viz-Via) X 8075 / 1000 157 275
3AH 0 0 1 1 1 0 1 0 Vsg" | Via+(Vis-Via) X 835.0 / 1000 58 27.5
3BH 0 0 1 1 1 0 1 1 Vso"  |Via+(Vis-Via) X 862.5 / 1000 59 27.5
3CH 0 0 1 1 1 1 0 0 Veo" | Via+(Vis-Via) X 890.0 / 1000 160 27.5
3DH 0 0 1 1 1 1 0 1 Ver"  |Via+(Viz-Via) X 9175 / 1000 61 275
3EH 0 0 1 1 1 1 1 0 Ve2"  |Via+(Viz-Via) X 945.0 / 1000 162 275
3FH 0 0 1 1 1 1 1 1 Ves"  |Via+(Vis-Via) X 9725 / 1000 163 275
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NEC

0.5 Vop2 — 0.3V0O Vs Vo[ V1o V1100 V120 V130 V140 Vis0 Vss2+0.2 V, POL21/22 = L

=3

uPD16750

05-30000000000000 (2/14)

.1 000 | Dx7 | Dxs | Dxs | Dxa | Dxs | Dx2 | Dx1 | Dxo oooo m (Q)

Ve Ve'I"on | 0] 1] 0] 0] 0] 0]o]o] Ve [va 164 250
Fasa 41H 0 1 0 0 0 0 0 1 Ves" | Via+(Vi2-Vis) X 25 / 1600 165 25.0
42H 0 1 0 0 0 0 1 0 Ves" | Vis+(Viz-Vis) X 50 / 1600 166 25.0

Ve Vasa” 43H 0 1 0 0 0 0 1 1 Ver"  |Vis+(Vi2-Vis) X 75 |/ 1600 67 25.0
r253 44H 0 1 0 0 0 1 0 0 Ves" | Via+(Vi2-Vis) X 100 / 1600 168 25.0
Vasa” |45H 0 1 0 0 0 1 0 1 Veo"  |Vis+(Viz-Vis) X 125 / 1600 69 25.0

r252 46H 0 1 0 0 0 1 1 0 V70" |Via+(Vi2-Vis) X 150 / 1600 170 25.0
Vs |47H 0 1 0 0 0 1 1 1 V71" |Vis+(Viz-Vis) X 175 / 1600 71 25.0

fast 48H 0 1 0 0 1 0 0 0 V72" |Viz+(Viz-Vis) X 200 / 1600 72 25.0
Vzs1” | 49H 0 1 0 0 1 0 0 1 V73" |Via+(Vi2-Vis) X 225 / 1600 173 25.0

r250 4AH 0 1 0 0 1 0 1 0 V74" [Vis+(Viz-Vis) X 250 / 1600 174 25.0
| 4BH 0 1 0 0 1 0 1 1 V75" |Via+(Vi2-Vis) X 275 / 1600 175 25.0

i 4CH 0 1 0 0 1 1 0 0 V76" |Vis+(Viz-Vis) X 300 / 1600 176 25.0

3 4DH 0 1 0 0 1 1 0 1 V77" [Viz+(Vie-Vis) X 325 / 1600 177 25.0

i 4EH 0 1 0 0 1 1 1 0 V7g" | Via+(Vi2-Vis) X 350 / 1600 78 25.0

ro2s : 4FH 0 1 0 0 1 1 1 1 V79" [Vis+(Viz-Vis) X 375 / 1600 79 25.0
Vazs” |__50H 0 1 0 1 0 0 0 0 Veo" | Via+(Vi2-Vis) X 400 / 1600 r80 25.0

I224 51H 0 1 0 1 0 0 0 1 Vai" | Vis+(Viz-Vis) X 425 | 1600 r81 25.0
V1o V224" 52H 0 1 0 1 0 0 1 0 Vg2"  |Viz+(Viz-Vis) X 450 / 1600 r82 25.0
f223 53H 0 1 0 1 0 0 1 1 Ves" | Via+(Vi2-Vis) X 475 |/ 1600 r83 25.0
Vas" [ 5aH ol 1l o] 1l o] 1] ol of ve [vist(vie-vis) X 500 / 1600 r84 25.0

ez 55H 0 1 0 1 0 1 0 1 Vs [Vis+(Viz-Viz) X 525 | 1600 185 25.0
i 56H 0 1 0 1 0 1 1 0 Ves" | Vis+(Viz-Vis) X 550 / 1600 186 25.0

3 57H 0 1 0 1 0 1 1 1 Vg7"  |Vis+(Vi2-Vis) X 575 |/ 1600 r87 25.0

3 58H 0 1 0 1 1 0 0 0 Ves" | Via+(Vi2-Vis) X 600 / 1600 r88 25.0

3 59H 0 1 0 1 1 0 0 1 Vag"  |Vis+(Viz-Vis) X 625 / 1600 r89 25.0

3 5AH 0 1 0 1 1 0 1 0 Voo" | Via+(Vi2-Vis) X 650 / 1600 r90 25.0

| 5BH 0 1 0 1 1 0 1 1 Vor"  |Vis+(Vi2-Viz) X 675 / 1600 r9l 25.0

3 5CH 0 1 0 1 1 1 0 0 V2" |Viz+(Vi2-Vis) X 700 / 1600 r92 25.0

: 5DH 0 1 0 1 1 1 0 1 Voz" | Via+(Vi2-Vis) X 725 | 1600 r93 25.0

3 S5EH 0 1 0 1 1 1 1 0 Vos"  [Viz+(Viz-Vis) X 750 / 1600 r94 25.0

i 5FH 0 1 0 1 1 1 1 1 Vos" | Via+(Vi2-Vis) X 775 | 1600 r95 25.0

i 60H 0 1 1 0 0 0 0 0 Vog" | Vis+(Viz-Vis) X 800 1600 r96 25.0

i 61H 0 1 1 0 0 0 0 1 Vor"  |Viz+(Vi2-Vis) X 825 / 1600 r97 25.0

| 62H 0 1 1 0 0 0 1 0 Vog" | Via+(Vi2-Vis) X 850 / 1600 r98 25.0

i 63H 0 1 1 0 0 0 1 1 Voo"  |Vis+(Viz-Vis) X 875 / 1600 r99 25.0

i 64H 0 1 1 0 0 1 0 0 Vioo"  |Vis+(Viz-Vis) X 900 / 1600 r100 25.0

ra3 65H 0 1 1 0 0 1 0 1 V101" |Vis+(Viz-Vis) X 925 / 1600 ri0l 25.0
Vag” 66H 0 1 1 0 0 1 1 0 Vioz"  |Vis+(Vi2-Viz) X 950 / 1600 r102 25.0

r32 67H 0 1 1 0 0 1 1 1 V103" |Vis+(Viz-Vis) X 975 / 1600 r103 25.0
Via Va2" [ 6gH ol 1 1] ol 1] o] of of via |vist(vieviyx 1000 / 1600 r104 25.0
rat Var" 69H 0 1 1 0 1 0 0 1 Vios"  |Viz+(Viz-Vis) X 1025 / 1600 r105 25.0
rao Ij 6AH 0 1 1 0 1 0 1 0 Vios"  |Vis+(Viz-Vis) X 1050 / 1600 r106 25.0
T 6BH 0 1 1 0 1 0 1 1 Vio7"  |Vis+(Vi2-Viz) X 1075 / 1600 r107 25.0

3 6CH 0 1 1 0 1 1 0 0 Viog" |Vis+(Viz-Vis) X 1100 / 1600 r108 25.0

3 6DH 0 1 1 0 1 1 0 1 Vioo" |Vis+(Vi2-Viz) X 1125 / 1600 r109 25.0

3 6EH 0 1 1 0 1 1 1 0 Vi1o"  |Vis+(Viz-Vis) X 1150 / 1600 r110 25.0

3 6FH 0 1 1 0 1 1 1 1 V" |Vis+(Viz-Vis) X 1175 / 1600 rill 25.0

3 70H 0 1 1 1 0 0 0 0 V2" |Vis+(Vi2-Viz) X 1200 / 1600 ri12 25.0

. 71H 0 1 1 1 0 0 0 1 V13" |Vis+(Viz-Vis) X 1225 / 1600 r113 25.0

r2 72H 0 1 1 1 0 0 1 0 Via"  |Vis+(Vi2-Viz) X 1250 / 1600 r114 25.0
V2" 73H 0 1 1 1 0 0 1 1 Viis"  |Vis+(V12-Vas) X 1275 / 1600 r115 25.0

& . 74H 0 1 1 1 0 1 0 0 Viie"  |Vis+(Viz-Vis) X 1300 / 1600 r116 25.0
Vi 75H 0 1 1 1 0 1 0 1 Vi7" |Vis+(Vi2-Viz) X 1325 / 1600 r117 25.0

Vis fo Q Vo© 76H 0 1 1 1 0 1 1 0 Viig"  |Vis+(Viz-Vis) X 1350 / 1600 r118 25.0
77H 0 1 1 1 0 1 1 1 V11" |Vis+(Vi2-Vis) X 1375 / 1600 r119 25.0

78H 0 1 1 1 1 0 0 0 Vi20"  |Vis+(Viz-Vis) X 1400 / 1600 r120 25.0

79H 0 1 1 1 1 0 0 1 V121" |Vis+(Viz-Vis) X 1425 / 1600 ri21 25.0

7AH 0 1 1 1 1 0 1 0 V122" |Vis+(Vi2-Viz) X 1450 / 1600 ri22 25.0

7BH 0 1 1 1 1 0 1 1 V123" |Viz+(Viz-Vis) X 1475 / 1600 r123 25.0

7CH 0 1 1 1 1 1 0 0 Viza"  |Vis+(Vi2-Viz) X 1500 / 1600 r124 25.0

7DH 0 1 1 1 1 1 0 1 Vizs"  |Vis+(Viz-Vis) X 1525 / 1600 r125 25.0

7EH 0 1 1 1 1 1 1 0 V126" |Vis+(Viz-Vis) X 1550 / 1600 r126 25.0

7FH 0 1 1 1 1 1 1 1 Vi27"  |Vis+(Vi2-Vis) X 1575 / 1600 ri27 25.0
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NEC uPD16750

=3

05-30000000000000 (3/4)
0.5 Vop2 — 0.3V0O Vs Vo[ V1o V1100 V120 V130 V140 Vis0 Vss2+0.2 V, POL21/22 = L

. 000 | Dx | Dxe | Dxs | Dxa | Dxa | Dx2 | Dx1 | Dxo oooo m (Q)

Ve Vass 80H 1 0 0 o]l o] o] o ol v Jve 1128 25.0
s 81H 1 ol ol ol ol ol ol 1T v [viervuvi)x 25.0 / 1900.0 1129 25.0
82H 1l ol ol o] o] o] 1] ol vise |Vier(vu-vie)x 50.0 / 1900.0 r130 25.0

Ve Vaee” 83H 1l ol ol ol o o 1T 171 vis [vier(vu-vi)) x 75.0 / 1900.0 1131 25.0
s [F' 84H 1 ol ol ol ol 1] o ol v [viet(vu-vi)x 1000 / 1900.0 1132 25.0
) 85H 1 ol ol ol ol 11T o] 1] viss" [Veer(v-vi) X 1250 /  1900.0 1133 25.0

e Vass g6H | 1 | o]l o] ol ol 11 11 o vi [Veervuvi)x 1500 / 1900.0 1134 25.0
) 87H 1l ol ol ol o] 2] 1] 1] vis" [Viet(vu-vi) X 1750 / 1900.0 r135 25.0

Vas2 88H 1 0 0 0 1 0 0 0 Vize" |Vi+(Vi-Vi2) X 200.0 /  1900.0 1136 25.0

rzs1 Vi 89H 1 [ ol o] o 1 | o[ o 11 vier [Veertvu-vi) x 2250 /7 1900.0 1137 25.0
- Ij = 8AH | 1 ] 0 ] 0l ol £ ] 0 £ ] 0 Vi [Vatr(VaVi) X 2500 / _1900.0 1138 25.0
; sBH | 1 [ o J ol ol 11T ol 21 17T vise [Veer(vuvi)x 2750 / 1900.0 1139 25.0

| scH | 1 [ ol o] o] 1] 1] of of v [vier(vu-vi) X 3000 / 1900.0 r140 25.0

| 8bH | 1 [ o J oJ ol 1T 11 ol 11 vir [vier(vu-vi)Xx 3250 / 1900.0 1141 25.0

: 8EH | 1 [ oJ ol ol 1 [ 1 [ 11 o] vie [Veer(vu-vi) X 350.0 / 1900.0 1142 25.0

3 sFH | 1 [ ol ol ol 21 217 11 1] Vi [Veer(vu-vi) X 3750 / 1900.0 1143 25.0

razs 90H 1 ol ol 1T ol o o] o] vie Jveer(vuve)X 4000 / 1900.0 1144 25.0
Vazs” 91H 1 0 0 1 0 0 0 1 Viss" |Vi+(Vi-Viz) X 425.0 /  1900.0 r145 25.0

r224 ) 92H 1l ol ol 1] o] o] 1] o] vue [Vier(vu-vi) X 450.0 / 1900.0 1146 25.0
Vio rozs Vazd 93H 1 0 0 1 0 0 1 1 Viar"  |Viz+(Vi1-Vi2) X 475.0 / 1900.0 147 25.0
V" 94H 1 ol ol 1T ol 11T o] o] v Jvervuvie)X 5000 / 1900.0 1148 25.0

. |j 95H 1 ol ol 1T ol 11T o] 1 v Jver(vuv)X 5250 / 1900.0 1149 25.0
; 96H 1 ol ol 1T ol 11 1T ol viso" [Vier(v-viz) X 5500 /  1900.0 1150 25.0

| 97H 1l ol ol 1] o] 2] 1] 1] vis" [Viet(vu-vi) X 575.0 / 1900.0 ri51 25.0

: 98H 1 ol o]l 12T 12T o] o ol vie" [Viet(vu-vi)X 6000 / 1900.0 1152 275

| 99H 1 ol ol 1T 1T o o 1] viss" [veer(v-vi) X 6275 /  1900.0 1153 27.5

3 orH [ 1 T ol ol 1T 1T ol 271 of vise' [Veer(vuvi) X 6550 / 1900.0 1154 27.5

| oBH | 1 [ o J ol 1T 1T ol 21 17T viss" [Veer(vuvi) X 6825 / 1900.0 1155 27.5

| ocH | 1 [ ol o] 1 ] 1] 1] of of vise" [vVier(vu-vi) X 710.0 / 1900.0 r156 27.5

: ooH [ 1 J ol ol 1l 1l 1T o] 1] vis" [Veer(vuvi)X 7375 / 1900.0 1157 27.5

i ofH | 1 [ o J ol 1T 1T 21T 271 o vise" [Veer(vuvi)x 7650 / 1900.0 1158 27.5

| oFH | 1 [ ol ol 2T 21 27 11 11 vise" [Vier(vu-vi) X 7925 / 1900.0 1159 27.5

3 AH [ 1T ol 2T ol ol o ol ol vie [viervu-vi) x 8200 1900.0 1160 30.0

: AH | 1l o]l 1] o] o] o] of 1] vie [vier(vu-vi)x  850.0 / 1900.0 r161 30.0

| AH T 1T o]l 1T ol ol ol 11 of vie [viervu-vi) X 880.0 7/ 1900.0 1162 30.0

| AmH [ 1T ol 1T ol ol ol 11T 1T viee [Vier(v-vi) X 9100 7/ 1900.0 1163 30.0

| AMH T 1T ol 2T ol ol 1T ol ol v [Viervu-vi) X 9400 /7 1900.0 1164 30.0

: AH [ 1 T ol 1T ol ol 1T o 1T vies [Vier(v-vi) X 9700 /  1900.0 1165 30.0

' ‘ AeH | 1 ] ol 1] o] o 1] 11 of vies" [Vier(vu-vi) X 1000.0 / 1900.0 1166 30.0
Ve ATH 1T o]l 1T ol ol 1T 11 11 vierr [vier(vu-vi) X 1030.0 7/ 1900.0 1167 30.0

I AsH | 1T ol 2T ol 1T ol ol ol vie [Viervi-vi)x 10600 / 1900.0 1168 32.5
Vis Va2 AH | 1T ol 2T ol 1T ol ol 1T viee [Vier(vi-vi) X 10925 7/ 1900.0 1169 32.5
ra1 AMH [ 1 T ol 1T ol 1T o] 11 of vin [Veer(vu-vi) X 11250 7/ 1900.0 1170 32.5
Var” MH | 1 [ ol 1] o] 1] o] 1] 1] vin" [vier(vu-vi) X 11575 / 1900.0 ri71 325

rso ACH [ 1 T ol 1T ol 1T 121 o of vir" [Veer(vu-vi X 11900 / 1900.0 1172 32.5
| AH [ 1 T ol 1T ol 1T 2T o 171 v [Ver(vuvi) x 12225 7 1900.0 1173 32.5

! AEH [ 1 T ol 2T ol 2T 2T 1T ol v [vier(vu-vi) X 12550 / 1900.0 1174 32.5

! AFH [ 1 T o T 1T ol 1T 11 11 11 v [veer(vu-vi) X 12875 7/ 1900.0 1175 32.5

! BoH | 1 [ ol 1] 1] o] o] o] o] vie [Vier(vu-vi) X 13200 / 1900.0 1176 35.0

| BiIH [ 1 [ ol 11 1T o] o o 1] vir" [Viet(vu-vi) X 13550 / 1900.0 1177 35.0

| B2H [ 1 T ol 1 12T o]l o 11 o vue [Vier(vu-vie) X 13900 / 1900.0 1178 35.0

. [;' B3H | 1 [ ol 1T 2T ol ol 11 11 v [Vier(vu-vie) X 14250 / 1900.0 1179 35.0
; BaH [ 1 T ol 1T 2T ol 2T o1 o Vi [Vier(vu-viz) X 14600 / 1900.0 1180 35.0

v BsH | 1 [ ol 1] 1] o] 1] o] 1] vie" |[Viet(vu-vi) X 1495.0 / 1900.0 r181 35.0

n Vi B6H | 1 [ ol 11 1T ol 217 11 o vie [Vier(vu-vi) X 1530.0 / 1900.0 r182 35.0
o B7H [ 1 T ol 1 12T ol 27 11 1] vies" [Vier(vu-vie) X 1565.0 /  1900.0 1183 35.0
Vis Vo' BsH | 1 [ ol 1T 2T 2T o o o] Vi [Vier(vu-viz) X 16000 /  1900.0 1184 37.5
BoH | 1 [T ol 1T 2T 2T o o 1] vies [Vier(vu-viz) X 16375 / 1900.0 1185 37.5

BAH | 1 [ o] 1 [ 1 1 o 1] of vise" [Vervuvi)X 16750 / 1900.0 r186 37.5

BBH | 1 [ o[ 1T 1T 11 ol 21 171 vier [Ver(vuvi)X 17125 / 1900.0 1187 37.5

BeH | 1 J ol 1 T 1T 1T 11 ol of vie [viervu-vi) X 1750.0 7/ 1900.0 1188 37.5

BDH | 1 [ ol 1 T 1T 1T 1T ol 171 viee [Vier(vi-vi) X 17875 7 1900.0 1189 37.5

BEH | 1 [ o [ 1T 1T 1T 12T 271 o vieor [Veer(vu-vi) X 18250 / 1900.0 1190 37.5

BFH | 1 | 0 | 1 | 2 | 2 | 2 | £ | 1 | Vir" |Ver(VuV) X 18625 / 1900.0 1191 37.5
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NEC

=3

uPD16750

05-30000000000000 (4/4)
0.5 Vop2 — 0.3V0O Vs Vo[ V1o V1100 V120 V130 V140 Vis0 Vss2+0.2 V, POL21/22 = L

OO0 | Dx7 | Dxe | Dxs | Dxa | Dxa | Dx2 | Dxa | Dxo gooo m (Q)

Ve Vass' ™ CoR 1 1 0 0 0 0 0 0 | Vie" [va r192 42.5
CiH | 1 1 [ o o ol oo 1 [ Vi [Vi(Vio-vin) X 425 |/ 1600.0 1193 425

2ot coH | 1 [ 1 [ ol ol ol ol 21 of viewr [Vur(viovu)x 850 / 1600.0 1194 425
Cc3H | 1 1[0 0 o[ o 1 1 | Vi [Vit(Vie-vi) X 1275/ 1600.0 1195 425

Ve s VeI ean 1 1 0 0 0 1 0 0 Vies" [Vi+(Vi-vu) X 170.0 / 1600.0 1196 425
C5H | 1 1 [ o o[ o 1 0 1 | Vi [Vas(Vie-vi) X 2125 / 1600.0 1197 425

e Ves' T Cen | 1 1 0 0 0 1 1 0 | Vi [Vu+(Vie-vi) X 2550 / 1600.0 r198 42.5
ctH | 1 1] o0 0 0 1 1 1 | Vi |Vit(Vie-vi) X 2975/ 1600.0 r199 425

Ves2' ey | 1 1[0 0 1 0 [ o [ o] veoo [Vit(vie-vi) X 340.0 / 1600.0 1200 475

rast vaerfSoH | 1 1[0 0 1 o[ o 1 | Veor' [Vut(Vie-vi) X 3875 /  1600.0 1201 475
- Ij #“TeaHn | 1l 1ol ol 2T ol 1] ol vaer [varvievi)x 4350 / 1600.0 r202 475
‘ CBH | 1 1 [ o 0 1 0 1 1 | Veos' [Vut(Vie-Vi) X 4825/ 1600.0 1203 475

| ccH | 1 1] 0 0 1 1 0 0 | Ve |Vut(Vi-Vi) X 530.0 / 1600.0 1204 475

! cbH [ 1 1[0 0 1 1 0 1 | Veos' [Vit(Vie-vi) X 5775 /  1600.0 1205 475

! CEH | 1 1[0 0 1 1 1 0 | Vo' [Vut(Vi-vi) X 625.0 /  1600.0 1206 475

3 CFH | 1 1 [ o 0 1 1 1 1 | Veor' [Vut(Vie-vi) X 6725 / 1600.0 1207 475

r22s DOH | 1 1 [ o 1 0 [ o] o] ol Ve [Vur(vie-vi) X 720.0 / 1600.0 1208 52.5
Vas'l D1H | 1 1 [ o 1 o [ o] o 1 | Veos' [Vut(Vie-Vi) X 7725/ 1600.0 1209 52.5

r224 D2H | 1 1] o0 1 o] o 1 0 | vao' |Vut(Vi-vi) X 825.0 / 1600.0 r210 52.5
Vio o Vad'l "p3 |1 1[0 1 o[ o 1 1 | veu' [Vut(vie-vi) X 8775 /  1600.0 1211 52.5
varh22H | 1 1 [ o 1 0 1 0 [ 0 | Ve [vur(vio-vi) X 930.0 / 1600.0 1212 52.5

- |j D5H | 1 1 [ o 1 0 1 0 1 | Vo' [Vas(Vie-vi) X 9825/ 1600.0 1213 52.5
‘ D6H | 1 1 [ o 1 0 1 1 0 | Ve [Vut(Vi-vi) X 1035.0 /  1600.0 1214 52.5

! D7H | 1 1] o0 1 0 1 1 1 | vas' |Vit(Vie-vi) X 10875 /  1600.0 1215 52.5

! DeH | 1 1] 0 1 1 0 [ o[ o] vae [Vut(vie-vi) X 11400 / 1600.0 1216 57.5

: DOH | 1 1 [ o 1 1 o[ o 1 | Vo [Vis(Vie-vi) X 11975/ 1600.0 1217 57.5

! DAH | 1 1 [ o 1 1 0 1 0 | Vae' [Vut(Vi-vi) X 12550 /  1600.0 1218 57.5

| DBH | 1 1 [ o 1 1 0 1 1 | Vas' [Vut(Vie-Vi) X 13125 / 1600.0 1219 57.5

! DCH | 1 1] 0 1 1 1 0 0 | Vao' |Vut(Vi-vi) X 13700 / 1600.0 1220 57.5

| DDH | 1 1[0 1 1 1 0 1 | Ve [Vut(Vie-vi) X 14275/ 1600.0 1221 57.5

; DEH | 1 1 [ o 1 1 1 1 0 | Vo' [Vut(Vi-vi) X 14850 / 1600.0 1222 57.5

| DFH | 1 1 [ o 1 1 1 1 1 | Ve [Vit(Vie-Vi) X 15425 / 1600.0 1223 57.5

: EOH | 1 1 1 0 o [ ol o ol vea v 1224 57.5

| ElH [ 1 1 1 0 0 o] o 1 | Vas" [Vio+(Ve-Vio) X 575 | 46875 1225 70.0

i E2H | 1 1 1 0 0 0 1 0 | Vo' [Vio+(Ve-Vio) X 1275 | 46875 1226 70.0

| E3H | 1 1 1 0 0 0 1 1 | Vo' [Vior(Ve-vio) X 1975 /| 46875 1227 70.0

: E4H | 1 1 1 0 0 1 0 | 0 [ Ve [Vior(Ve-vio) X 2675 | 46875 1228 82.5

! E5H | 1 1 1 0 0 1 0 1 | V' [Vior(Ve-Vio) X 350.0 / 4687.5 1229 82.5

. I:: E6H | 1 1 1 0 0 1 1 0 | Vao' |Vio+(VeVi) X 4325 | 4687.5 1230 82.5
varr |EZH | 1 1 1 0 0 1 1 1 [ Vs [Viot(Ve-Vio) X 5150 / 4687.5 1231 95.0

a2 ESH | 1 1 1 0 1 0 [ o [ o [ Ve [Vior(ve-vio) X 610.0 / 4687.5 1232 95.0
Via var | EoH | 1 1 1 0 1 o[ o 1 | Ve [Vior(Ve-Vio) X 705.0 / 4687.5 1233 95.0
ra EAH | 1 1 1 0 1 0 1 0 | Ve [Viot(Ve-Vio) X 800.0 / 4687.5 1234 112.5
%Vm" EBH | 1 1 1 0 1 0 1 1 | vess' [Viot(Ve-Vio) X 9125 | 46875 1235 1125
rao ECH | 1 1 1 0 1 1 0 [ 0 [ vase" [Viot(vevi) X 1025.0 / 46875 1236 1125
3 EDH | 1 1 1 0 1 1 0 1 | Ve [Vior(Vevi) X 11375 / 46875 1237 130.0

! EEH | 1 1 1 0 1 1 1 0 | Vo' [Viot(VeVi) X 12675 / 46875 1238 130.0

| EFH | 1 1 1 0 1 1 1 1 | Vess' [Vior(Vo-vio) X 13975 / 46875 1239 1475

3 FOH | 1 1 1 1 0 0 0 0 | Vao' |Vio+(VeVi) X 1545.0 / 4687.5 1240 1475

| FIH | 1 1 1 1 0 0 0 1 | Ve [Vior(Vovi) X 16925 / 46875 1241 165.0

: FoH | 1 1 1 1 0 0 1 0 | Vo' [Vio+(VeVi) X 18575 / 46875 1242 165.0

‘ F3H | 1 1 1 1 0 0 1 1 | Vi [Vior(Vo-vio) X 20225 / 46875 1243 182.5

r2 I:;l CLFaR |1 1 1 1 0 1 0 | 0 [ Ve [Vior(VeVi) X 2205.0 / 4687.5 1244 182.5
V2 F5H | 1 1 1 1 0 1 0 1 | Vass" |Vior(Vo-vio) X 23875 /| 46875 1245 200.0

n v |FeH | 1 1 1 1 0 1 1 0 | Vae' [Vio+(VeVi) X 25875 / 46875 1246 200.0
o F7H | 1 1 1 1 0 1 1 1 | Ve [Vior(vevi) X 27875 | 46875 1247 225.0
Vis vor LF8H | 1 1 1 1 1 0 0 [ 0 [ Ve [Vior(vevi) X 30125 / 46875 1248 225.0
FoH | 1 1 1 1 1 0 0 1 | Ve [Vior(Vovio) X 32375 / 46875 1249 250.0

FAH | 1 1 1 1 1 0 1 0 | Vaso' |Vio+(VeVi) X 34875 / 4687.5 1250 250.0

FBH | 1 1 1 1 1 0 1 1 | ves" [Vior(vovi) X 37375 /| 46875 1251 300.0

FCH | 1 1 1 1 1 1 0 0 | Vesz" [Vio+(Ve-Vi) X 40375 / 46875 1252 300.0

FDH | 1 1 1 1 1 1 0 1 | Vess' [Vior(Vo-vio) X 43375 / 46875 1253 350.0

FEH | 1 1 1 1 1 1 1 0 | Ve [vo 1254 350.0
FFH | 1 1 1 1 1 1 1 1 | Vess' Ve TOTAL | 15002.5
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0000000000000 Vw=0.7Vo1OVL=03Vo2OOOOOOO
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